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A. TICK THE CORRECT OPTION. 

 
1).The Right to vote is guaranteed to Indians who are:- 
a. Highly Educated 
b. Highly Rich 
c. The Scheduled Castes 
d. Citizens of India 
2). The most successful scheme of the government which increased enrollment of childrens in school is: 
a. Education for all 
b. Reservations of seats in Schools 
c. Mid-Day meal scheme 
d. scholarship & Financial help to poor children.  
3).Which one of the following is not responsible for weakening the Indian Society:- 
a. Casteism 
b. education 
c. Illiteracy 
d. Poverty 
4). According to the Preamble, who is constituiting India  into a Socialistic,Secular,and Democratic Republic:- 
a. The people of India 
b. All our National Leaders 
c. The Constituition itself 
d. Representation of the people 



 

 

5).To ensure that all the children from the deprived sections are able to fulfill their dreams the Government of India should not:- 
a. give them free food and clothing 
b. give them monthly stipend/ monetary help 
c. provide free education 
d. leave them to fight for themselves and become self-dependent 
B. FILL IN THE BLANK. 
1). The___________________ in a document that lays down the framework, Political Structures and the powers and duties of the Government. 
2). The ___________________ is an introduction to our Constitution. 
3). The___________________ system creates a social division in a nation. 
4).Each__________________ is an organized group, having its own policies and programmes. 
5). Many_________________ have been made to protect the Right to Equality. 
C. STATE TRUE OR FALSE FOR THE FOLLOWING STATEMENTS. 
1. On 15th August 1947, India become a republic   ________ 
2. Our constitution framers wanted to eradicate discrimination ________ 
3. People elect their representatives for a fixed term __________ 
4. The law does not give equal protection to all ___________ 
5. The provisions of reservation have not reached everyone __________ 
D. ANSWER THE FOLLOWING QUESTIONS IN BRIEF. 
 
1. What is the main function of an opposition party? 
 
 
 
 
 



 

 

2.Why was reservation provided for certain castes in India? 
 
 
 
 
3). What is meant by Secularism? 
 
 
 
 
4).Why is Universal Adult Franchise considered a courageous step of the Constituent Assembly. 
 
 
 
 
5).Why have the benefits of Reservation not reached everyone? Suggest two steps that can     ensure development of all sections of the Indian Society. 
 
 
 
 
----------------------------------------------------------------XXX--------------------------------------------------------- 
 
 
PREPARED BY: C. M SINGH 
 


